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Question 1

Given two classes which represent types of payment : CashpPayment and
CreditCardPayment. A class named Payment will serve as the superclass for both types of
payments. Define all common methods in Payment class, and specify all differing methods in

such a way that every subclass is forced to implement them. No objects of type Payment will
be created.

a. Implement the following in Payment class.
i. Declare payment class.
ii. Declare amount as a variable which is only accessible by its subclass.
iii. Define a constructor by an amount.

iv. Define a constructor by a paymentID and amount.

b. Implement the following in CashPayment class.
i. Declare CashPayment class.
. iR

(8 marks)

i. Declarea tenderedAmount as a varia accessible by its class only.
ii.  Define a constructor by payment u
iv. Change is calculated based on amoun@fendered and amount. Write the complete
method definition for ¢ ulateChange method where amountTendered is the
input and change is the outpat of method.

(10 marks)

test question 1(a) and 1(b). Implement the following in

ii. Write the tostring method to display the following :
Payment [D: 1001, Amount: RM1000, Change: RM200

[Hint: Assume that the toString method in superclass is already declared]

ii. Is the following statement valid? Explain why.
Payment pay = new Payment (1011,3000);

(7 marks)
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Question 2

a. Once a class is defined, you can declare reference variables of class type. The
following question is based on the subject class. The class contains all private data
members named subject ID, subject name and credit hour. Re-draw the diagram at
Figure 1.0 and fill-up necessary data based on the following java statement.

[Hint: You can use one drawing for all the questions]

i Subject mySubject = new Subject ("ISB16003")
ii. mySubject.setSubjectName ("O0OP") ;

iii. System.out.println(mySubject.getCreditHour()) ;

(4 marks)
subjectD
_ subjectName
® creditHour
Reference variable Subject object
Figure 1.

b. The following question is base 1.0.
1 System.out.pr¥jt lease enter pay rate : ");
2 pay rate=s ceqneRtDouble () ;
3 if (pay, ra > throw new PayRateException(pay rate);
Snippet 1.0
i. Write the suita ser-defined exception class for Figure 2.0. (5 marks)
Please enter pay rate : 45.0
Error : The pay rate 45.8 exceeds RM25.@0
Figure 2.0
i. Write the catch statement for Figure 3.0. (2 marks)
Please enter pay rate : twenty five

Error: wrong data type

Figure 3.0.
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c. Produce the output of Listing 1.0.

CONFIDENTIAL

(5 marks)

1 public class ThermalReading {
2 public double celcius;

3

4 public ThermalReading() {

5 }

6

7 public ThermalReading(double celcius) {
8 this.celcius=celcius;

9 }

10

11 public double CelToKelvin()
12 {

13 return celsius + 273.15;
14}

15 }//end of ThermalReading.java
16

17

18 public class TemperatureTest {

20 public static void main(String[] ar
21 {

22 ThermalReading t1 = new Therma

23 ThermalReading t2 = new Therma 3

24

25 System.out.println(tl.celcius+" ce
kelvin.");

26

27 System.out.println(t2ficelci celcius =
kelvin.");

28 ¢

29 t2.celcius
30

31 System.o
32 }//end mai
33 }//endyclass

2.celcius+" t2.celcius");

= "+t1.CelToKelvin()+"

"+t2.CelToKelvin()+"

Listing 1.0
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JANUARY 2016 CONFIDENTIAL

d. Answer the following question based on the Listing 2.0.

Voo dOU b wWwN

30

33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52

public class NumericalValues

{

public NumericalValues()

{ System.out.print("Passing negative value : ");

}

public NumericalValues(int num)
{System.out.println("Passing positive value :

}
}//end class

+ num);

public class PositiveNumericValues extends NumericalValues

{

public PositiveNumericValues()

{ this(1);

}

public PositiveNumericValues(int x)
{ super(x);
System.out.println("***");

}

}//end class

public class Negativ

{
public NegativeN

{ this(-1); &
}

umeRiicValues extends NumericalValues

ues

{

public print()
{ System.out.println("Printing continues..");

}
}//end class

public class TestOutput

{

public static void main(String[] args)

{

NegativeNumericValues nv = new NegativeNumericValues(-1);
nv.print();

new PositiveNumericValues();

}
}//end class

Listing 2.0.
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i.  Write the output for Listing 2.0. (5 marks)
ii.  Explain line number 16, 34,49 and 50.
(4 marks)

Question 3

a. A class named Fan contains a method setSpeed () that takes an int argument . Write
the following java statements.

i. To create an array of 20 Fan objects named fan.

(2 marks)
ii. To assign a speed value of 3 to the first fan object.

(2 marks)

iii. To assign a speed value to the last fan object ed on user input.

[Hint: Scanner userInput = new Scann&r (SY&tem.in);]
\ (2 marks)

b. The following program segment (Figure 4.0) position relationship between
cat and ScientificName. In Cat a two-args constructor and a
toString () method that will return the ame of cat.

(5 marks)

ScientificName ’w Cat

ic Wlass ScientificName

private String familyName;
private String speciesName;

}
public class Cat

{

private int id;

Figure 4.0
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c. Based on the following programs in Listing 3.0 and Listing 4.0, produce the output when
the test program is run. Determine which one is method overloading and method
overriding (Briefly explain).

(6 marks)

class Fish ' class Fish
{ K
public void Eat(int i)  public void Eat(int i)
{System.out.println("It eats " +i+ " } {System.out.println("It eats "+i+"
times"); | times");
} '}
}//end class ' }//end class

|

I

|

%
class Shark extends Fish ?class Shark ends Fish
{ | {
public void Eat(int i) | Edt(double i)

|
{ | {

System.out.println("Shark eats " +i+ éSyste ut.println("Shark eats "+i+

" times"); imes");
}
}//end class ' }//end class
public class Test Q public class Test
{ K
public static voi in(String[] | public static void main(String[]
args) ‘ args)
{ | ¢
Shark a = new Shark(); lShar‘k a = new Shark();
a.Eat(1@); | a.Eat(10);
) )
}//end class E}/lend class
|
|

Listing 3.0 ! Listing 4.0
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d. The following actionPerformed method (Snippet 2.0) is based on Figure 5.0. Write the
complete method definition of calculate method.

(8 marks)

public void actionPerformed(ActionEvent e)

{

String actionCommand = e.getActionCommand();

int numl = (Integer.parseInt(jtfNuml.getText().trim()));
int num2 = (Integer.parseInt(jtfNum2.getText().trim()));
int result=0;

if (e.getSource() instanceof JIMenuItem) {
// Handle menuactionCommand item events

if ("Add".equals(actionCommand))
result=calculate('+',numl,num2);

else if ("Subtract".equals(actionCgmmand))
result=calculate(’'-"',numl,num2

else if ("Multiply".equals(actj mand) )
result=calculate('*',numl,

else if ("Divide".equals(acti
result=calculate('/',nu

else if ("Close".equal ol d))
System.exit(®@);
jtfResult.setText(S result));

}//end of IMenultem
}//end of actionPerformed() metho

bt |Number2 |jin'esnrn' A

Multiply Cui-ta
Divide cCtl-D Add Subtract Multiply Divide

Figure 5.0
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Question 4

a. Based on the following java statement, write the java statement

CONFIDENTIAL

that allows the

conversion of kilograms to grams and print the output to " yourFile.txt" (use for loop) as

shown at Figure 6.0.

(5 marks)
PrintWriter outfile ;
outfile= new PrintWriter(new File("yourFile.txt"));
‘ kilograms grams
10 10000
8 8000
6 6000
4 4000
Figure 6.0
b. Create TWO Thread classes: Threadbay and ThreadEven.
i. The ThreadDay class that creates a thread that pri ger day 1today 7.
Day 1 starts with Sunday :
(5 marks)

ii. The ThreadEven class creates a thread th int en*humbers from1 to 7.

c. The following question is based onthe Clien ver class.

i. The following java statemen
the server in the Clien
gender and waist @i
to Server class. ¢

PrintWriter \: r = new
PrintWrigergfon tYoServer.getOutputStream(),

(4 marks)

to create a buffered output stream to send data to
it¢ the java statement to accept values of
from the keyboard and send both values

true);
(5 marks)
ii. In the Se ass, write a complete static method definition when the following
statement is invoked.
String message = DetermineObesity(gender,waist);
lgender | waist message i
'Morm >80 cm Obese
"Forf >80cm | Obese
Otherwise, the message will be “Not Obese”.
(6 marks)

END OF QUESTIONS
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